.'T)’%’Afag:)ﬁ e

L2 ANI12P T N7 NINNWD — ATy 97

a0 TNPY IRNYD N MO AR Y2 mann
| 1M N
i Ix-8x=25 @ ® x-15=0 |
1 4x =400 ® @ 100=4x i
24+ x=738 @ ® 3x-2x=100 '
| —2x ==30 ® ® =6 J
I— EEE s E e R s == "
C10x 4+ 3 =33 . naxvwnn mom
1 NN INnwny NIL.F‘EI}LUII TINNWRN NN 1300
' 2x+4+8x+3=33 (2) 10x =30 N
10x+4-=1=133 )] Tx+1043x—=6=233 "'
n
(/_\' — e 18 mevnmnrw 10 nmtaen e xoams”
S ‘.;7)'_.\\\\ : ONDD ANNER M (N
’_/P | 5= | s 2 e = = = " om e
NPy —  — - e Vo —
l'-. /v" \.(_./'/ i .NPNNN2 290 NN A0 NKRD INSD (:UI
\ ’ e & 2 e e . e— = - o —
- — T3 —FE= o
and302 ZNWIIN NN NI20 DNN D207
: 2TavA 7 TN TN !
e N — W — R —]

307

:m‘mpu.i NINTWN 72 0°9°U0A 1IN 1TN2

2x=12 x+4=10
x+6=12 3—x=9

4x =100 3x+2x=100
—Tx =49 -x+5=12
10x + 5 =45 3+10x =45
9x —8x =1 6x—1=5
Dt x=—4 -30=15x
12x = —144 T==3

uaLIVEWORKSHEETS

3]
(a)
(0
m
(n
(n
(v)
(a}]




